EARAROBREBRT —5 XN—ZXBISH—F 2022688138 (£) 4BUMVETH

NN STEEIHLE A—FY (BD) RIE EEEEE TR

[AE%] 1 7% :13,500,000 § 2375 :5,400,000 .~ 3 75:3,400,000 @ 47 :2,000,000H  53&:1,350,000 F

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
‘3,5 ~ R— : - puzit 3
1 5 | UN=YTIWL—Y i o6 gﬁgm R 3.(0_6).3 2-2-1-1 [ 13.0 3 48)3 %Eﬂ%ﬁ%ﬁ)
RIN=VISA BAYFAL—Y #HET7—L
25l 5| TrBYy Y i 6 /i\ggﬂg%ic 3:?57).1 2-2-2-2 [ 13.1| — 1 z:g)z ggg;% E=H)
R:T=ILRZUa—)b §:75yFO0-—4 /=Y Tr—I
=2 Q o6 | EREES 3:08.1 4-4-4-4 |13.2| - 4 510 | =SUIAE ()
3|17|7|®€TVINAN 000 ®) ) | BRI
R:Midnight Lute B: 7954 YRATREU Y b~ =B
—_ L0 N : -1-2- - REFIZ (=R
4 3| =hvEOAsO— L A 3.(028).4 1-1-2-2 | 13.2 6 zg)z eI
RiFvIn(O— H:ZhrEOIFI1+ TRRHKUS
S B4 | EPEHEE 3:09.4 5-5-5-5 | 13.2| — 5 | 56 |EAARE (ER)
5 6| RE—A—L 60.0 ®) () | FUE=E
RiFRXF B:JTTy hTA—=Y A FA|
S B o6 | EOREIER 3:10.3 6-6-6-6 | 13.3| — 7 | 492 |REBX (ER)
6 4| EILYFE—)L [B] 60.0 ) o |EFE
RiFVINAO— B:F4F7—RIN—T) A4S

*x| 81 8 I\“IJ‘_L\Z)IJ:J:V_ 5 2‘%23%@, (q:._u:) ) - N 2 (4_826) ﬁﬁ%i;fi%—\)b?»f)dl
R:RU—LIvy—=— BiAVAXET—I FATPUVANTST
@5 1L
0] 53.0-40.6
NarsA L
@ 11— —@BIE(I
1J—3— 3-(2,5=7,6,4=1 8
Al=5r= (3,2,5)=7-6-4=1 8
Il=zr= 2(3,5)=7-6-4=1 8
41—F— 2(3,5)=7-6=4=1 8
o I RE
B B 2 4101 | | DA R 2-5 20| | & &= 2-5 650M | | 358 2-5-7 1,180MH
5 B 2 1504 2-7 490MH 58 2-5 1,300M 3EE 2-5-7 5,920
5 130M 5-7 280M
7 170M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




